=LFDb

3UDFRZQLN SRINGDG  GU . XFKDUVNL 20JLHUG 7\J

o
™
7\
Z SUTHGPLRI GR Z\ERUX NHUXQNRZ\ G
S U - XFKDUNL 20JIHUG =% $°0
T Y
= Z
N SHIXIDFIH SUDZQH EH]SIHFTHEVIZD
SUDF\
)
D
7\ 7\
3UDZR UZ GU .XFKDUWN| [3UDZR Z GU - XFKDUWNL
20JHIG = 7.5 /| |26 - 75/
& -
=z
I
=
fal
N 7\G] 7\G]
T 3UDZR 3UDZR Z
iz Gl Gl
- XFKDUNL | | . XFKDUNL
20HG = | [20HG -
757 757
& -
7\ 7\ 7N
. 6\VIHP XEH]SIHF]HE B\VIHP XEH]SIHFTHE
6\VIHP XEH]SIHFIHE || |[VSRHFIQ\FK 2 53 Z G VSRIHFIQ\FK Z 53 Z G
VSRHFJQ\FK Z 53 Z G| || - XFKDUYNL 203LHIG =% U . XFKDUVNL 203LHUG =%
U . XFKDUVNL 20JIHUG =% $"06 - $°06 =
$"00 =
INGJIHE ~ ]DICFID 7\G]
PLOXI 6\VIHP XEH]SIHFJHE
= VSRIHFIQ\FK Z 53 Z G 7\6]
S U - XFKDUVNL 20JIHUG =% B\VIHP
b $"06 - XEH]SIHFIH
E
VSRIHF1Q\A
Kz 53
Z G
- XFKDUVNL
20JIHIG =
%
$"06
7\G] 7\G]
3UDZQH DVSHNIN EH]SIHFTHEWIZD Z GU . XFKDUVNL 3UDZQH DVSHNIN EH]SIHFTHEVIZD Z G
a 20JHIG $ 63 %+3 - XFKDUVNL 20JIHUG $ 63 %+3
x
g 7\6]
>

3UDZR XU]CGQIF]H SHIXIDFIH SUDZQH
EH]SIHFTHEVIZD SUDF\GU - XFKDUVNL

20JIHIG =% 35% :




3UDFRZQLN SRINGDG  GU . XFKDUVNL 20JLHUG 7\J

=LFDb

7\G]
[m) 3UDZR
z XUJCGQLFTH SHIXIDFIH
i} SUDZQH EH]SIHFJHEVIZD
g SUDF\ GU . XFKDUVNL
20JHIG =%
35% : -
a 7\G] AN 7\J 7\G]
% 3UDZQH DVSHNIN EH] SLHF]HEVWZD uzeu 3UDZR 3UDZR 3UDZR
=3 - XFKDUVNL 20JIHUG $ 63 %+3 XUJCGQLF]H 5HJXODH1H XUJCGQLF]H 5HJXODJ:!AH XUJCGQLF]H 5HJXODH1H
(O] SUDZQH EH]SIHFJHEVIZD SUDZQH EH]SIHF]HEVIZD SUDZQH EH]SIHFJHEVIZD
T SUDF\ GU . XFKDUVNL SUDF\ GU - XFKDUVNL SUDF\ GU . XFKDUVNL
o 20IHIG =% 20JHIG =% 20JHIG =%
35% : z 35% - - 35% : -




